Tableaux des Puissances de Dix (C)

Multipliez le nombre de la rangée par celui de la colonne.

10 000 10 1000 100

35

78

83

61

21

1000 100 10 000 10

95

17

88

10 000 1000 100 10

10 1000 100 10 000

49

23

17

68
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Tableaux des Puissances de Dix (C) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 10 000 10 1000 100
35 350 000 350 35000 3500
78 780 000 780 78 000 7 800
83 830 000 830 83 000 8 300
61 610 000 610 61 000 6 100
21 210000 210 21 000 2100
X 1000 100 10 000 10
95 95000 9500 950 000 950

4 4 000 400 40 000 40

3 3 000 300 30000 30
17 17 000 1700 170 000 170
88 88 000 8 800 880 000 880

X 10 000 1000 100 10
75 750 000 75000 7 500 750
99 990 000 99 000 9900 990

2 20 000 2000 200 20
63 630 000 63 000 6 300 630

8 80 000 8 000 800 80

X 10 1000 100 10 000
49 490 49 000 4900 490 000
6 60 6 000 600 60 000
23 230 23 000 2 300 230000
17 170 17 000 1700 170 000
68 680 68 000 6 800 680 000
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